Addition Horizontale de Décimaux (D)

Calculez chaque somme.

9208,30 + 880,4 = A78,7+5,8 =

84,7835 + 30,698 = 11,346 + 8,743 =
77,668 + 25,827 = 1400,7631 + 450,218 =
7726,149 + 4,2346 = 336,381 4 3,2898 =
5749,8 + 42,9344 = 3519,580 + 2,99 =
8196,40 4 10,1 = 18,94 + 3,467 =
2595,5 + 3,038 = 473 +82=

317,6 + 28,4 = 833,1 -+ 65,67 =
170,82 + 6,8865 = 451,9500 + 252,5 =
61,1+ 3,55 = 855,830 + 30,2 =
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Addition Horizontale de Décimaux (D) Réponses

Calculez chaque somme.

0208,30 + 880,4 = 10.088,7 A78,7+ 5,8 = 4845

84,7835 + 30,698 = 115,4815 11,346 + 8,743 = 20,089

77,668 + 25,827 = 103,495 1400,7631 + 450,218 = 1850,9811
7726,149 + 4,2346 = 7730,3836 336,381 + 3,2808 = 339,6708
5749.,8 + 42,9344 = 5792,7344 3519,580 + 2,99 = 3522,57
8196,40 + 10,1 = 8206,5 18,94 + 3,467 = 22,407

25955 + 3,038 = 2598,538 A73+82="555

317,6 + 28,4 = 346 833,1 + 65,67 = 898,77

170,82 + 6,8865 = 177,7065 451,9500 + 252,5 = 704,45

61,1 + 3,55 = 64,65 855,830 + 30,2 = 886,03
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